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PHYSICAL EDUCATION - 11
IR

1. Through which organ does the Polio Virus
enters in our body ?
(A) Mouth
(B) Ears
(€) Skin
(D) Feet

2. Match the List - I items with the items of

List - II :
List - I List - I1
(a) Flexibility (i) ability of the body
to maintain

equilibrium under
static and dynamic
conditions.

(b) Balance (i) ability to focus ona

given goal or
target.

(€) Accuracy (iii) ability to integrate
various body
movements into
specific patterns.

(d) Coordination (iv) therange of motion
around joint,

Choose the correct answer from the code

given below :

@ ® () (@

A) O @ @) )

B) G @ (@) @)

© O @ @) )

@ ) & @) @)

1.

2.

=

ﬁmwmmwﬂtﬁfﬂmﬁ

EENEEZOIE

(A) H=&

(B) =M

(C) =

(D) WFgs

W-Iﬁqﬁaﬁqgﬁ-xrﬁnﬁﬁgﬁrﬁaﬁ

I

et - 1 el - 11

(a) TR (i) Fefrw g nfysie
AT H oft feft iz
BN 99T 59 T
i I |

(b) Hge (i) = T F8g e
A N ey @y
1 Irrgar

(c) G (iii) F=1-fir= fifst & ofy
1 U fafeme =
AR H13 #
A |

(d) F-ATEE (iv) why & -9 Ty
Ealetis

7 g2 & Wl s g

(@ (b) (¢) (d)
@A) @ @ v ()
B @ @ G ()
© O @) @@ (v
D) ) 0 @ i)
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3. Studying the rules and regulations for 3.  wREifrr % ford frad @ AT FLAT

competition is most essential part of 1 TEA THL W B
(A) Fitness Training (A) Sug=a wfrem

(B) Technical Training (B) wfafers wfsrayo

(C) Tactical Training (C) Tafoma wfweror

(D) Psychological Training (D) WA wivneor

14, Find the correct order for submission of 4, VI WIS 1 ST FH AAFAE :
research proposal.

(a) Significance of the Problem (a) SHEN = "

(b) Limitation, Delimitation (b) HrHTERY, HEHEERT

(c) Statement of the Problem (c) HHEN ® TIH

(d) Hypothesis (d) wfEweg

(e) Review of related Literature (e) Hefya mifecl =t wefan

(f)  Time Schedule () ww7 g=

(8) Method (g) fafy

Code : - He

(4) (@ () () (g). (B, (d), (b) (8) @) () (o). (g). (0, (d), (b)
(B)  (®), (©). (). (e). (), (). (b) (B) () (9), (g). (e), (), (), (b)
©  © @ ®) (€. @ @, (g ©)  © @), ®), (@), @), @, (g
(D) (d). (), (e). (g), (), (a), (c) (D) (d), (. (e), (g), (®), (), (c)

SPACE FOR ROUGH WORK / % &3 % ot s
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Given below are two statements one is

Assertion (A) and the other one is

Reason (R) :

Assertion (A) : Growth is largely a genetic

phenomenon.

Reason (R) : Parents or physical

educators can do nothing to control it.

In context of the above statements, which

one of the following is correct ?

(A) Both (A) and (R) are right but (R) is
not the correct explanation of (A).

(B) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(C) (A) is wrong but (R) is right

(D) (A) is right but (R) is wrong

Given below are two statements, one is

labelled as Assertion (A) and other is

labelled as Reason (R).

Assertion (A) : Physical Education is an

elective discipline.

Reason (R) : Physical Education borrows

principles from other allied fields.

In the context of two statements, which

one of the following is correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

9 @ w @ T ¥ afiremeae (A)
3R T ek (R) ®)

AfumaT (A) : fawm #1922 7% ™

AT T E |

e (R) : wm-foa = wriifes foren foers

74 i #01 & 2 3o 78w w=a ¥

3w F geof ¥ frefofas 8 9 s

HYT W B2

(A) S (A) 3R (R) W& 2 W (R), (A) FT
e = TE w2

(B) <Hi(A) 3R (R) w&t ¥ it (R), (A) #F
T =& il £

(C) (A) o & 9 (R) Tt &)

(D) (A) ¥l 2 @ifs (R) T 21

99 3 aws o w ¥ o F
ARTHAT (A) T TH ! HWOT (R) Fal T
®

ATUHAT (A) : TR e wa s g
gl

T (R) : TR fran foog § o= wgem
fererei @ firgia fore o 2|

T 2 FFA! & yET H, Frafafed § 9 96
oI HE 2

(A) (A) 32 (R) 2t %@t & a9 (R), (A) F1
TE AT |

(B) (A) 7 (R) <Ml w& ¥, T (R), (A)
T HE A 76 B

(C) (A) ¥& & 9T (R) e ¥
(D) (A) 7TeT B, 9% (R) 9&t £
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7. The Hamstring muscles originate on the 7. : 1 92 sAfterdiey W Enfem
large tuberosity of the : e w1 3eafe a2
(A) Ischium (A) sferm
(B) TIlium (B) sferam
(C) Femur (C) W
(D) Pubic Bone (D) 9feF a
8. What is the compulsory element in 8. w3 ¥ sifyard ag FME?
learning ?
(A) Ability to read (A) T HI geomE
(B)  Bright mind (B) <iferwm gfs
(C) Tendency to know (C) <A =t ygfa
(D) None of these (D) W § | % 76
9. The best method for training emotions in = 9. @il & W 3 wfirerm = Hates fafy
sports is : ®:
(A) Sublimation (A) eI
(B) Inhibition (B) srEdIEA
(C) Re-direction ©) T:fdw
(D) Suppression (D) =97
10. The energy system which will be  10. 7 firfe 31 st 8% A8 F SR T
predominant in a race lasting more than WS T i HITHT Tl qEga: w7 e
three minutes will be : ®?
(A) Anaerobic System (A) TAEfSE Fomed
(B) Aerobic System (B) wiifers yomeft
(C) No System (C) = womedt &
(D) League System (D) T Yot
SPACE FOR ROUGH WORK / 1% &4 % ot wmrg
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11,

T2,

13.

When one says that Health swings
between “Death and Positive Health” he
is talking about ?

(A) Types of Health
(B) Spiritual Health
(C) Elements of Health
(D) Spectrum of Health

Preparation of school time table is largely
dependent upon :

(A) Availability of time

(B) Auvailability of teachers
(C) Availability of classroom
(D) All the above

Arrange these tests in line of their
chronological development :

(a) Harvard step test

(b) JCR test

(c) Kraus Weber test

(d) Barrow motor ability test
Code :

(A) (9) (b), (a), (d)

(B) (d), @), (b), (¢)

© (@) ®) (o) (d)

(D) (). (@), (a), (b)

j i 7

12.

18

IR IS Hea § f @ gy it wate
e T o gord T €, 9 9 W
¥ g oM =t a6 = @ R ?

(A) A F YHR
(B) AT e
(C) @R F TweH
(D) e 1 W

T TEA 29a FH AART HTHT B
T+ R At &

(A) 3Ue= H9H
(B) Tl =1 Suereumn
(C) &l =t ST

(D) S a4t

=1 el 1 37 FreTTmiTE fawm *
YR R Hafeerq Hifag ;

(a) wTEE VYW

(b) JCR =

(c) T3 AW &

(d) = A ufaferdt e
He :

(A) (9, (b), (), (d)

(B) (d), (a), (b), (c)

(© @) (), (), (d)

(D) (©) (d), (a), (b)

SPACE FOR ROUGH WORK / 7% &1 & &g we
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14. Which of the statements are correct ? 14. FTEFIFH A Fom & R?
(a) Internal - The extent to which the (@) 3R - faelt st % shomm
Validity results of a study can be e %! forg Hw a5 Sy
attributed to the 3UTEl 1 47 T 51 e
treatments used. gl
(b) Independent - The part of experiment (b) WA - g U fem famy
Variable that the researcher vyswal fadt R &5
cannot manipulate. AT & A1 Tl |
(c) Ecological - The extent to which () wiRfefasr - i, fog ofrmn a
Validity research emulates the Eln)l arfas favs ¥ @ wx
real world. Hehel ¥ |
(d) External - Systematic (d) =d - I & Ui
Validity arrangement of the LG JATTEY o= |
results of the study.
(A) (a) and (b) are correct. (A) (a) 3R (b) W& ¥
(B) (b) and (c) are correct. (B) (b) 3R (c) Wel €
(C) (a) and (c) are correct. () (a) 3 (c) §& €1
(D) (b) and (d) are correct. (D) (b) 3R (d) T F
15.  Law of readiness, Law of exercise and 15, 3=t #1199, a1 =1 e w6 wuE F5
Law of effect are propounded by : s % g § -
(A) Adler (A) TSR
(B) Thorndike (B) 9riers
(C) Allport (C) e
(D) Maslow (D) &
SPACE FOR ROUGH WORK / T% &4 ¥ o o
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16.

17.

18.

In the Olympic motto “Altius” means :

(A) Faster
(B) Higher
(C) Stronger
(D) Bigger

Given below are two statements, one
labelled as Assertion (A), and the other
as Reason (R).

Assertion (A) : Modern concept of health
includes only a sound body with adequate
fitness.

Reason (R) : Health is a state of complete
well-being.

Which one of the following statement is
correct ?

(A) (A)is right, but (R) is wrong.
(B) Both (A) and (R) are right.

(C) (A) is wrong, but (R) is right.
(D) Both (A) and (R) are wrong.

Hypothalamic theory of emotions is
propounded by :

(A) Cannon Bard
(B) James Lange
(C) Masserman

(D) Singer

16.

17.

18.

AF ey A W “uefeaw w1 ot
2

(A) e
(B) =™
(C) wiferasmeit
(D) fasmeray

= & Fow G w1 @ ¥ i | wem
AfumaT (A) 3 g6 1 ®ROT (R) Fa
TR

AfUwET (A) : g3 IR & WY ITgH
HEHA 8 @ F) Ay faEmem §

HIUT(R) : T U HY0f HeAFRT Sraeen
gl

1 wuHi § 9 S-w wyT wa 22

(A) (A) ¥F € g (R) 9 ¢ |
(B) = (A) 3R (R) T ¥
(C) (A) 3/ 8, 9% (R) TeT B
(D) T (A) 3R (R) 39T 1

o % wEudelioe fagia & Wi ¥

(A) A =T
(B) S wS
(C) HuTq
(D) fom

SPACE FOR ROUGH WORK / 1% &1 & f&d wmg
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19. Which of the following muscles help in 19, YT &1 79 T F T T AR F9
expanding and shrinking the size of the i aieafmEl yftew frad £ 2
chest cavity to facilitate breathing ?
(A) Gluteous Muscles (A) TefeTe mimafimt
(B) Quadricep Muscles (B) FeTEHY wiEAfmt
(C) Intercostal Muscles (C) T=-=r=a Higyfirr
(D) Tripezius Muscles (D) grufsra wigdfemt
20. Peakedness of a distribution having a  20. fereit ferereor 7 witefen, forery weife = witd
relatively high peak is called : 1, 1 a1 FEl S ?
(A) Leptokurtic (A) dTwFE
(B) Skewness (B) Fwer (TREH)
(C) Mesokurtic (C) weaswmd
(D) Platykurtic (D) WUEHF
21.  If a massage expert is providing Hacking, ~ 21. #ifere &% 3R s &=t IEuE, S
Pounding, Clapping and Beating, then ST FATT 1 W & @ ¥ A 7w Wy 5
he/she is using which technique of FF W T &2
massage ?
(A) Stroking (A) Em=im
(B) Pressure (B) WeR
(C) Percussion (C) wher
(D) Shaking (D) Wi
22. Which organ of the body is severely 22. mqmwﬁa%ﬁmﬁa«ﬁuﬁa%a’rm
affected when one is suffering from IR I - ST T AT g1 2 2
Hepatitis ‘A’ ?
(A) Heart (A) ®F
(B) Liver (B) IPd
(C) Lungs © W%
(D) Kidney (D) T
SPACE FOR ROUGH WORK / T% &1 % ford =g
Set - A 9210/TFU-PHED/ELG-II



23.

24,

25.

The foundation of physical education is  23.

made strong with :

(A) Scientific Facts

(B) Cultural Heritage

(C) Philosophical Concepts
(D) Physical Culture

Which of the following does not find 24,

place in the management in Physical
Education and Sports ?

(a) Equipment support

(b) Appointment of supporting staff
(c) Management of athletic injuries
(d) Maintenance of indoor halls

Choose the correct answer from the code
given below.

(A) Only (a) is correct.

(B) Only (c) is correct.

(C) Only (a) and (b) are correct.

(D) Only (a), (b) and (d) are correct.

Which of these is not a dimension of 25.

Eysenck Personality Test ?
(A) Psychoticism
(B) Neuroticism
(C) Extraversion

(D) Creativity

W e 1 SER fores wetea e & 7

(A) FofFer qef

(B) Wiwpfas wRIEt
(C) =eifer sreemon
(D) ¥ Hwpfa

=1 4 8 frgen, Wit fasn o Bese
Yeie | T @ fom mn 2

(a) ST FEE

(b) THLF HHAIE *1 e
(c) UYAfes Al 1 yay
(d) FER e 1 @-wa
11 2 | wft I g

(A) T (a) T T

(B) T (c) Wl ¥

(C) T (a) 3R (b) T T
(D) s (a), (b) 30K (d) Tel &1

T 9 M SES% SR WA F UH
AW TE &7

(A) AR
(B) W% fafa
(©) afeds

(D) gsTfterar

SPACE FOR ROUGH WORK / T% @14 & fod s
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26.  Match the items of List - I with the items 26, W-I%uﬁaﬁqﬁ-n%nﬁﬁgﬁﬁa
of List - II : Hifeg :
List - I List - II et -1 et - 11
(a) Bridge Cup test (i)  Agility (2) foorFywlam @) <o
(b) Mcloy test (i) Flexibility (b) HFAT TG (i) e
(c) Burpee test (iii) Balance (c) a4 e (i) HgeA
(d)  BasStick test  (iv) Strength (d) =9 € e (iv) e
Choose the correct answer from the code 1 %2 @ Wl s gfi .
given below :
@ () (g () @ () (© (@@
(A) @ @v) () (i) (A) @) @v) () (i)
(B) (@) @) (iv) (i) (B) @) () (v) (i)
© @) @) @ (v © Gi) @ @ (v
(D) @) @) () (i) D) (@) @ @Gv) (@)
27. Amino Acids are the broken product of  27. &N W 9N T THI ¥ IIEE 3T
which nutrient ? H uftafed g ??
(A) Carbohydrate (A) FErERES?
(B) Protein (B) WM
(C) Fat (C) =
(D) Vitamins (D) faarfa=g
28. Select the correct option. 28. W famey g
Modern concept of Physical Education YR forem syfes faamum #t BISERIn]
was started : T ot :
(A) After 1920 (A) 1920 % gy=g
(B) After 1957 (B) 1957 & wy=mm
(C) In the last decade of nineteenth (C) Z=irwal wiaredt % snfEdt v &
century
(D) After 1960 (D) 1960 % 9v=m
SPACE FOR ROUGH WORK / T% =14 ¥ for g
Set- A 9210/TFU-PHED/ELG-II



29,

30.

31.

Which of the following test items is/are
related to AAHPER youth fitness test ?

(a) 600 - yards Run-Walk
(b) 12 - minute Run

(c) Step Test

(d) Standing Long Jump

Choose the correct answer from the code

given below :
(A) (a) and (b)
(B) (b) and (d)
(C) (b) and (c)
(D) (a) and (d)

If an Athlete gets an ankle sprain, he
should immediately take the following
First Aid :

(A) Massage

(B) Apply lodex
(C) Ice Application
(D) Hot Packs

Which of the following would determine
the level of facilities required for Physical
Education ?

(A) Institutional Policy
(B) Requirements of the Programme
(C) Philosophy of Education

(D) Type of Institution

29. = ¥ § F9-w Tiew 7g/7E, AAHPER

30.

31.

7y foreig T ¥ gafg 2/ 2
(a) 600 - IEH T-1H

(b) 12-fF= @

() Wyew

(d) wf=n s

1 Fe & wd sw g

(A) (a) T (b)
(B) (b) W (d)
© (BT ()
(D) (a) T (d)

3R U fEendt % zEa | | o o ¥ A
W g A wafis 3T=R & @@d S
=1 :

(A) @A R HIfAY

(B) @A W SAETSH TRIAT

(C) T@A WaH Tl

(D) Z@3 I Y T

e fian % o sfsa gfawnsi =1 @
1 fAi fered 2m 2

(A) HEra Hifa
(B) HTHH I TEVTHATL
(C) Toren =1 2eiA
(D) HEI T e

SPACE FOR ROUGH WORK / T% &1d & fod sme
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32. In which Olympics, women participated  32. fehd sfierfeuen § wfeen 3 et AR T fora ?
first time ?
(A) 1896 (A) 1896
(B) 1900 (B) 1900
(C) 1912 (©) 1912
(D) 1928 (D) 1928
33. Given below are two statements, one 33. TR FYyE A ™ £ UF # aifusmae (A)
labeled as Assertion (A) and the other as TIT HL ] HIOT (R) F&1 T & :
Reason (R) :
Assertion (A) : Financial Management AT (A) : Foe weirm, et Ten i
is concerned with planning and for Hamet & friem LeRERER R Pr]
controlling of finance resources of an BRI
organization.
Reason (R) : Financial Management is the T (R) : To waier foreft e #7 gam,
most significant determinant by efficiency, forverseieran qon awerr 1 watfus HEcagf
credibility and success of an organization. i 2 €
Which of the following statements is = 9 3 F-w o wer LY
true 7
(A) Both (A) and (R) are correct and (R) (A) (A) @1 (R) &I et € =ik (R), (A) Ft
is the true explanation of (A). e A=
(B)  Both (A) and (R) are correct, but (R) (B)  (A) 71 (R) < #=t & W (R), (A)
is not the true explanation of (A). 1 TEl =re 1@ gl
(C)  (A) is right, but (R) is wrong, (©) (A) T 2, T (R) Tomw ® )
(D)  (A) is wrong, but (R) is right. (D) (A) TTerd B, TR (R) Wét &
SPACE FOR ROUGH WORK / T% &4 & forgr e
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34.

@)

(b)

(d)

35.

Match the following :

Uncorrelated

Skewness

Kurtosis

Normal
Curve

Code :

(a)
(i)
(i)
i)
(i)

(@)

Related to the
Data height of a
given distribution
curve

Mean, Median
and Mode being at
same point

When 2 samples
are independently
drawn

(iv) Deviation from

(iv)

normal probability
distribution

(d)
(iv)
(i)
(i)
()

In most of the sports, as competition

arrives, training volume

(A) Increases

(B)
©

Decreases

Maintained

(D) None of the above

34.

(a)

(b)

©

(d)

35.

gafed wife ;

FqeHafyd (i)
==

qury

ETaire

HHT deh

9

(A)
(B)
(©)
(D)

(1) (iv)

S T faaeor 5k
9% 9 et &

e, HifegeT 3R

g T | forg
R E

W &1 yfae I
= Y 9 e
YHMHT gifaaean
w24 9 faaem

(d)

AfFa Fel A S8 & wfeEmar ot

wisteror s grEm

(A) et ¥
(B) Wl ®
(C) Hyd Tl &

(D) I & HE Tl
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36. Find the correct answer. 36. W& IW F Fhw|
(@) Outward curve of the Spine - (a) ﬁﬁﬁﬂ%"ﬁﬁl’g-w
Kyphosis
(b) Exaggerated Lateral Curvature - (b) aftfe e e - TR e
Flat Foot
(c) Arch resting on the Supporting () YR Y= W 3 # OB -
Surface - Scoliosis whifasiifay
(d) Inward curve of the Spine - (d) 7=t fiwd Hre - Aty
Lordosis
(A) (a) and (b) are correct (A) (a) 3R (b) T &
(B) (c) and (d) are correct (B) (c) 3R (d) Tt ¥
(C) (b) and (c) are correct (©)  (b) 3R (c) wet &
(D) (a) and (d) are correct (D) (a) 3R (d) wet &
37.  Bureaucratic structure as developed by ~ 37. #¥9 3w 8N fasfa Ferendt s 5
‘Max Weber is as follows : THR R :
(a) Middle Management (a) TFEH FEEH
(b) Top Management (b) isHA yeiEq
(c) Scientific Management (©) Smfrr weiym
(d) Supervisory Management (d) YREESH yauT
Choose the correct answer from the code Frfafed f2 @ @ 3w 99 it
given below.
(A) (a), (b) and (d) are correct. (A) (a), (b) 3R () & &)
(B) (a), (b) and (c) are correct. (B) (a), (b) 3R (c) T &
(€)  (b), (c) and (d) are correct. © (), (c) 3R (d) Wt &1
(D) (@), (c) and (d) are correct. (D)  (a), (c) 31 (d) et &
SPACE FOR ROUGH WORK / 7% %T4 % ferat smg
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38.

39.

(a) Penny cup

(b) Zig-Zag Run

(¢) Scramble

(d) Figure - 8 Run

Which of the following test items is not a
part of the barrow motor ability tests ?

(a) Six Pound Medicine Ball Put

(b)
(c)
(d)
Choose the correct answer from the code
given below :

(A)
(B)
©
D)

Bar Snap
Zig-Zag Run
Standing Broad Jump

Only (a) is correct.

Only (b) is correct.

Only (b) and (c) are correct.
Only (b), (c) and (d) are correct.

Match the items of List - I with the items
of List - II :
List - I List - II

Vemont fitness test

Newton motor

ability test

Knox Basketball
test

Barrow motor

ability test

(iv)

Choose the correct answer from the code
given below :

(@ (b)
(i) (i)
(iv)
(i)
(1)

(d)
@)
(i)
()
@

(A)
(B)
(©)
(D)

(iv)
(iv)

(i
(i)

38.

39.

(b)

©)

(d)

= 4 4 SF-w1 vdam 7, SR =@t A
eI 1 T TG 2 ?

(a) Toam wEe A afa g2

(b) WXEY

(c) S-S

(d) wféngiewm

(A) F9 (a) TE ¥

(B) ad (b) WEl ¥

(C) & (b) 3 (c) TEl &
(D) & (b), (c) ¥R (d) =& ¥

1:[&]'-
s
it - 1
=t %9
S-S |

% Tl gt - 11 F 7af § gaferd

eIt - 11
fomire fireTg o=
A RIS e &

(1)
(i1)

ThS (iii) e e S S

IR - 8 ™ (iv) &0 HREX drga T

@)
(i
i)
)
()

(b)
(i)
()
i)
(i)

(d)
()
(i) (i)
(ii) ()
(i) ()

(A4)
(B)
(©
(D)

SPACE FOR ROUGH WORK / 1% & & Tl w1
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40. Which of the two characteristics of a test 40. ﬁ'&ﬂqﬂ&ﬂ'f?}n‘ﬁ?—ﬁ gl ﬁ@'ﬁﬂ'ﬁaﬁﬁ?ﬁ:
are very closely inter-related ? T g ¥
(A) Objectivity and Validity (A) ogfreed ug dum
(B) Norms and Validity (B) W% UH dAum
(C) Reliability and Validity (C) favamriaa vd dear
(D) Reliability and Objectivity (D) favawHtaar v srgfrsar
41. Match the following : 41, = Hﬁﬁﬁ Elfﬂ:_rm $
(a) External (i)  First hand source of (@) WM& AYA (i) WM H ke 1 gEen
Validity data in research is the I, FI FT e 2y
original study. gl
(b) Review (i) The Anticipated (b) HHE (i) TF AFF 91 G4 F
outcome of a study or Tt gftoms &
experiment.
(c) Primary (iii) The generalizability of (c) wrufe (i) STeEEA & gfiomE; &
Source the results of a study. Ha =TT |
(d) Hypothesis(iv) A research paper that is (d) FEFheT T (iv) U fasm foug w
a critical evaluation of T HEaih i vy
research on a particular TR
topic.
Code : %< :
@ (b) () (d) @ ® (© (@
(A) @) @) (i) (i) (A) () (@) (i) (iv)
B) (i) @) @) () ® ) @ @
© @) @v) () () © @) @v) @ (@)
(D) @) (i) (iv) () (D) () (@) (@v) (i)
SPACE FOR ROUGH WORK / % &Td % ferd s
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42.

43.

44,

45.

The shape of a motor learning curve ina  42.

function of spacing of the trials, the
capabilities of the performance, as well
as the nature of work is coined by :

(A) Morrison
(B) Smith
(C) Cratty
(D) Singer

Which of the following muscles is not  43.

affected in the acute groin injury ?
(A) Adductor Longus

(B) Adductor Medius

(C) Gracilis

(D) Hamstring

Which of the following is not considered  44.

as an element of coordinative abilities ?
(A) Balance

(B) Agility

(C) Kinesthetic differentiation

(D) Speed of reaction

The primary focus of supervision must  45.

always be the :

(A) competition programme
(B) equipment management
(C) learning situation

(D) maintenance of records

o faEem % #1 R S ¥ &=
AU 1 HH FT € 9° IqF gEe 3
1 & Yl Faw 8, F Jordr § ;

(A) HEA
(B) Ty
(C) e
(D) fam

e (FAF) W am o 9 e | = 3 4
A | Tt gy T8 2 ?

(A) TSHRX @H
(B) uwe=x fufeaw
(C) TEifaw
(D) FERG

= # @ foros o= gaa % 9= T8
HHET € ?

(A) wger

(B) =9eTal

(C) wfgdadt fadea

(Dy wfafsean =t f

YRGS 1 Wi By S0 2 =ifee

(A) wul FEwEH
(B) H¥F WSy

(C) S gRfeafa
(D) fFrE-wEwmE

SPACE FOR ROUGH WORK / T% &% & fodr sme
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46. Award in India for Lifetime Achievement
in sports and games is :

(A) Maulana Abdul Kalam Azad
Award

(B) Dhyan Chand Award
(C) Rashtriya Khel Protsahan Puraskar

(D) Rajiv Gandhi Khel Ratna Award

47. Match the List - I items with the items of

List - II ;
List - I List - 11
(a) Supervision (i) Competition

(b) Finance (i) Visitation

(c) Intramurals (iii) Reappropriation
(d) Infrastructure (iv) Layout

Choose the correct answer from the code
given below.

@ () (9 (d
(A) (v) () ) ()
(B) (@) (@) @ (v)
© @) Gv) @) @

D) O @ @) (v)

46.

47,

G H GRS Gl § softe suafy &
ferd fezm sman 2

(A) ﬁmwwaﬂmm

(B) “AFET [EHR
(C) T E HrwRT R
(D) Tfta e Gl 7 TR

el - 1% e 1 el - 11 % 7 & e
o

it - 1
(@) wHagm ()

et - 11
Ty

(b) fom (i) e
() IER (i) ARIFrEieH
(d) STHET (iv) otese
= e 1w s gfmy

@ () (9 (9
@A) (v @ @) G
B) @) (@) @ ()
© @) (v @ @

D) O @) @) (v)

SPACE FOR ROUGH WORK / T% &Td % for e
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48.

49.

Given below are two statements, one
labeled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : Aggression is one of the
personality trait believed to be associated
with athlete success.

Reason (R) : Aggression in sports in the
direct of increased professionalism and
resulting financial incentives to win.

Select the correct option.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

The strategy known as Carbohydrate
loading has its relevance with which
athlete ?

(A) Sprinter
(B) High jumper
(C) Long jumper

(D) Marathon runner

48,

49.

AR (A) T2 HWUT (R) F Fiifera 21
wo feg o ¥

AFUHLT (A) : TH1 T T B T Amhroeman
wferel 1 Therdl | TS T SAfae T 2

W®IUT (R) : @FhHS § ATH™Har, aiea
Wetafs wd Sa & forn wiea e
I

w& faswen g

(A) (A) @1 (R) EFi T § 991 (R), (A) 1
TE =TT §

(B) (A) @ (R) I WEl €, W (R), (A)
T TE A TR

(C) (A) ¥ &, T (R) 319F &

(D) (A) 378 €, W (R) 99

e & § fem uyelie & oo wEEEse
e’ WM gl e S 2

(A) 9 g F uEE (Si=)

(B) i %2 F faEers

(C) wwit %2 & fene

(D) HU=A uEH
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50.  Type of research that has direct value to 50, Wiy #1 9% YR forod, et F fau
practitioners but in which the researcher T qoq ? R LGS eRdl & fore iy sfdy
has limited control over the research R Hifea freson gan € oo Feemar 22
setting is known as :
(A) Basic Research (A) He1 Y
(B) Applied Research (B) STI9gE Wy
(C) Experiment Research (C) it vy
(D) Historical Research (D) Ufeerfas vy
51. The frequencies of the ultrasound used for 51. @aaﬁif%wﬁmﬁﬁmﬁ RS
the treatment of sports injuries range it Wadt 1 HE = S 2?2
between :
(A) 1.0 to 3.0 MHz (A) 1.0 9 3.0 MHz
(B) 4.0 to 7.0 MHz (B) 4.0 9 7.0 MHz
(C) 8.0 to 11.0 MHz (C) 8.0¥11.0 MHz
(D) 15.0 to 18.0 MHz (D) 15.0 ¥ 18.0 MHz
2. Which of the following is most 52. B a=ii %) T f¥an var 3 5 BEE]
appropriate principle of imparting Health FEER fagm FH-w &2
Education to small children ?
(A) Demonstration Method (A) e fafy
(B) Learning by doing (B) T &t T
(C) Lecture Method (C) = fafy
(D) Project Method (D) uftErsE fafy
53.  Who started professional preparation for 53, uHY 4 wRiftw foan fosst & fod
physical education teachers in USA ? A T it e e & o ?
(A) Dr. Sargent (A) =i uni=
(B) Dr. Philip (B) i fmferg
(C) Dr. Bunn () slL=d
(D) Dr. Buck (D) = 9%
SPACE FOR ROUGH WORK / 1% &4 & fod =g
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54,

55.

56.

is a technique rather than a
method.

(A) Command

(B) Lecture

(C) Small group interaction
(D) Voice deflection

Which agency regulates teachers training
in India ?

(A) UGC

(B) AICTE

(C) NCERT

(D) NCTE

Given below are two statements, one
labeled as Assertion (A) and the other as
Reason (R) :

. Assertion (A) : Human resources are

the wealth of an organization which can
help in achieving it's goal.

Reason (R) : Personal management is one
of the important responsibilities of a

manager.

Which one of the following statements is
true ?

(A) (A) is true, but (R) is false.

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(C) (A) is false, but (R) is true.

(D) Both (A) and (R) are true, but (R)
is not the correct explanation of (A).

54.

55.

56.

qgfd & 999 TF TS B

(A) smew

(B) =N

(C) 1 9YE F 97 yRefis faanr-fany
(D) =it fadg

yRd # Rrespl & wfmam | F9 O g
fafrafam weh &2

(A) FofE

(B) TUSMEHEE

(C) TAHEARE

(D) UHEE

(A) 1 (R) & THifeHa & weq o 73 § i
AR IR SO Fe T R

ARIHYT (A) : 779 TEA et o Hre
1 gEfa 2t © S WeA % e Y wif|
HeEs Bl §

SHITUT (R) : WS 1 U Heeayol Saeaiiye
e W&y e 2 )

= & | B-w w22

(A) (A) T &, 9% (R) e # )

(B)  (A) T (R) S Wed € 371 (R), (A) 1
HE =

(©) (A) 318 &, W (R) T 21

(D) (A) T (R) S ¥ ¥, T (R), (A)
i TE e TE

SPACE FOR ROUGH WORK / 7% T4 & fordr worg
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57. A women will be called as obese if the fat 57. T Higen HEm # 4of o 3T ® LA
percentage in her body is : HITE 36k IR F q@ (%) F gl
e & 2
(A) 10-12% (A) 10-12%
(B) 15-20% (B) 15-20%
(C) 21-25% (C) 21-25%
(D) > 35% (D) >35%
58. Transfer of training is : 58.  WfRTEToT & TR0 o R 7
(A) Learning new situation in industry (A) &M H 76t srereemd diee
(B) Learning from environment (B) AR § HrEH
(C) Verbal learning in different kinds of (C) wifes dra fafir= sraensii 4
environment
(D) Useof all learning from the situation (D) QU g =i et e § wain Fe
to a new situation
59.  Which of the following is not an example 59, 99§ F-4i 9= HATIH Seehid 912l i
of soft tissue injuries ? goft § & et 2
(A) Dislocation (A) Wi fazems
(B) Contusion (B) w=geH (fie)
(C) Blisters (C) W (D)
(D) Sprain (D) Hr=
60. Which of the following is nota fat soluble  60. FH# g - feerfer = # g YA ?
Vitamin ?
(A) Vitamin - A (A) foerfm - w
(B) Vitamin - B (B) faerfas - =it
(C) Vitamin - E (C) foarfg -2
(D) Vitamin - K (D) fo=fga - %
SPACE FOR ROUGH WORK / 1% %1 % fory g
Set - A
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61.

62.

63.

64.

When we are discussing on Sliding  61.

Filament Theory, it has its relation to :
(A) Skill training

(B) Dribbling in Hockey

(C) High jump training

(D) Muscle fibre contraction

Health related fitness does not include : 62.

(A) Flexibility
(B) Speed
(C) Endurance

(D) Body composition

National Fitness Corps (NFC) programme 63.

was framed in :
(A) 1965
(B) 1986
(€) 1972
(D) 1984

Which Philosophy of Education defines 64.

teacher as a role model for student ?
(A) Idealism

(B) Naturalism

(C) Realism

(D) Existentialism

W& T wsfen framie < ==t w §
ql 9 T g g &2

(A) =i wfveo
(B) &Mt | fgasiin &
(C) ¥ F7 F wimeor A
(D) wwT A W &

w|ree ¥ wafya wraa ¥ g7 wnfye
TR

(A) w=

(B) g

(C) WeTufa

(D) YRR &t 9=

T fres e S e S fear 7

(A) 1965
(B) 1986
(©) 1972
(D) 1984

T =1 - <reifTer vee femmeffai & fao
Toerer =1 avreyt A &2

(A) eTeEErR
(B) WFfaamg
(C) ZwaTg
(D) wfcaar

SPACE FOR ROUGH WORK / 7% &1 & fog wg
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65. In the beginning, Commonwealth games  65. Y ¥ UEHUSE Well I Hal S AT -
were known as :

(A) British Empire Games (A) Tafen amrs @@=

(B) Inter-Empire Championships (B) i W dfqgafig
(C) Lusophony Games (C) wHBHE @

(D) Mediterranean Games (D) YA JIRE B

66. Assisted training is applied for  66. T T wew Fgm ¥ fod weragE

improvement of following component of wfereror g feran s €
speed :

(A) Acceleration Ability (A) &0 o

(B) Stride Length (B) when i

(C) Stride Frequency (C) el SRaRET

(D) Better Start (D) F=a ARY

67. Match the items of List - I with the items 67, it - & WSl 1 R - 1 5 § gAfer

of List - II : HIfe

List - I List - I T - 1 it - 11
(a) Staffing (i)  Gathering information (a) FHAN Wl (i) =T A
(b) Organising (i) ~Delegating authority (b) FeA fmim (i) fEeRR faaor
(c) Controlling (iii) Extensive orientation (c) TrE=w = (i) feega stfEtRT
(d) Planning  (iv) Goal accomplishment (d) Frsmn fmim (iv) =g g

Choose the correct answer from the code f=iferd %2 & = 3 gf

given below.

(@ (b) (c) (d) @ () () (@)

(A) @ @) (@) (i) (A O @ (@) (@)

(B) (i) @) @) (i) (B) (i) () (1) (v)

(©) (@) @) (@) @) (© (@) @) Gv) ()

(D) (v) @) @ @) (D) Gv) (i) () (i)

SPACE FOR ROUGH WORK / % &4 % fordl g
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68.

69,

70.

When a bone or organ is moved towards 68.

body. It is referred to as :
(A) Upward Rotation
(B) Inward Rotation
(C) Outward Rotation

(D) Downward Rotation

Which type of Recovery is prescribed for 69,

repetition method ?

(A) Complete Recovery
(B) Incomplete Recovery
(C) Active Recovery

(D) Passive Recovery

Adaptation to training load at high 70,

altitude is known as :

(A) Super Compensation
(B) Thermo-regulation
(C) Acclimatization

(D) Fatigue

va et ggEt stean o w1 v @t eiR
S S € G 39 IHE W R FE S 2

(A) FeET T
(B) et HAE
(C) afenidt sam
(D) TETTEH g

Tt fafu & fod e yar 1 qowfa
=1 i fean s @ 2

(A) ot A9
(B) 31Ul gA:wif
(C) foramefier gt

(D) TafsFa g.wiftE

S F9E WSS YR % ST e # S
AWML :

(A) R FHEET
(B) rHi-VeRA
(C) UwelteEsem

(D) 93

SPACE FOR ROUGH WORK / T% &1 & fodt g
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71. In the teaching-learning process which ~ 71. foer-aifury wfar & foem ¥ #eg F@
combination of teaching aids is not aelt W 1 A W HAeE TR TE
important ? g7
(A) (a) Motivation (b) Clarification (A) (a) STOM (b) TSI
(B) (a) Save time  (b) Clarification (B) (a) 9HT Ud (b) T TT

and money T #i 59q
(C) (a) Avoid (b) Motivation (©) (a)mar & (b) 9Tum
dullness EERll
(D) (a) Motivation (b) Economical (D) (a) 9om (b) 3fdis T
strata

72. Which one of the following comes 72. Tmfafes § 4 9 RICREL R & o e
under the principles of curriculum & 3imia e 82
framework ?

(A) Explicit knowledge of core values (A) T gedi F1 TR JH
(B) Flexibility (B) er=emH

(C) Development approach (C) fammreT® gfesm
(D) All the above (D) 3TFa |t

73. If a man weighs 85 kg and his heightis  73. 3R U% =afad &1 959 85 freimm & @
180 cm then his Body Mass Index will ! TR 180 A, § & swe w1t Ay
be : TSR T B 2
(A) 047 kg/m? (A) 047 kg/m?

(B) 211 kg/m?2 (B) 211 kg/m?
(©) 15300 kg/m? (C) 15300 kg/m?
(D) 26.23 kg/m? (D) 26.23 kg/m?
SPACE FOR ROUGH WORK / T% &4 & ford g
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74.

79.

Choose the correct statement from the
following.

(@) Alpha (o) - A level of Probability set
by the experimenter prior to the
study.

(b) Typel error - Rejection of the Null
Hypothesis when the Null
Hypothesis is wrong.

(c) Beta (B) - The magnitude of type 1
error.

(d) Probability - The odds that a certain
event will occur.

(A) (b) and (c) are correct.
(B) (a) and (d) are correct.
(C) (b) and (d) are correct.
(D) (c) and (d) are correct.

Which of the following spheres does not
fall within the scope of supervision in
Physical Education ?

(a) Multifarious functions
(b) A single motive

() Varied policies

(d) A limited objective

Choose the correct answer from the code
given below.

(A) Only (b) and (c) are correct.
(B) Only (c) and (d) are correct.
(C) Only (d) is correct.
(D) Only (a) is correct.

74,

75.

=1 el & | wdt o w1 v Fif

(a) 3T () - 12T T FERTHE gr
Fafeyd Wifasar 1 @

(b) WFR 1R - I WaFeT1 F T o
T IHFH TR

(c) St (B)- ywR-1 Ffe =1 qftmm

(d) sfeehar - us ffeem w2 g e gn
Tereman

(A) (b) 3R (c) T T &
(B) (a) 3R (d) 2 @t ¥
(©) (b) 3R (d) B =& &
(D) (c) 3R (d) 3 &t 1

Wi foren % gurfers w1 wrtdm 3 sfaig
1 T 3T © 2

(a) wEfay vy
(b) THEHEH IF¥A
(c) Tafay wifesi
(d) T Hiftg stew
=1 %2 9wl 3w g

(A) FEe (b) 3R (o) T ¥
(B) 9 (c) 3l (d) wet &
(C) o (d) F&l &1
(D) 9 (a) TEl 1
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76. Blueprint of the competition plan is  76. e IS 1 fiie Heam
called :
(A) Strategy (A) ifa
(B) Skill (B) =i
(C) Technique (C) wfafy
(D) Tactics (D) Ffeyui feranfafy
77. Match the following : 4 'ﬁﬁfﬂ'd HifoT :
(A) (B) (A) (B)
(@) Centrifugal force (i) Designed to (a) HIFH a9 () Tt o197 & 9fta:
produce turning HrgaR 7 33 &
motion about an o =R T
axis
(b) Equilibrium (i) Rate of speed (b) WA (ii) e W R
(©) Lever (iii) Rotary motion (c) Sdre® (iii) Soff 7
(d) Velocity (iv) Stateofrestofthe  (d) a7 (iv) Tie =i favmmeeen
body w1 3TeET
@ () (g (9 @ () () (a
(A) @v) () @) () (A) (v) (@) @) (i)
(B) () (iv) () (i) (B) (i) (iv) (i) (i)
© @) @) @v) @ © @) @) @Gv) ()
D) @) Gv) () (i) (D) @ (v) (i) (i)
78. Assertion (A) : Reductive research is  78. W& (A): 7994 3y <1 =aferra g
establishing general relationship from the | T ety T Ty e 2
individual events.
Reasoning (R) : Empirical data collection Wk (R) : o=t WYy # awE giaa Sk
through scientific experimentation may be WA B AAMe fag =1 |ug e £
identified as reductive research.
(A) (R) is correct, but (A) is not correct, (A) (R) W&l 2, 9= (A) o B
(B) Both (A) and (R) are related. (B) (A) 3R (R) i waifum #
(C) Only (A) is correct, but (R) is not (C) e (A) HE &, T (R) Haifra et
related. &l
(D) Both (A) and (R) are not related. (D) (A) 3R (R) ST Haifya =& &1
SPACE FOR ROUGH WORK / T% &8 & o we
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79.

Arrange in sequence.

Movement involved in throwing the

Javelin :

(@)

(h)

(A)
(B)
(©)
(D)

80.

Trunk rotates to the right slightly as
cross-over step is made.

Trunk rotates to the right as the left
leg is planted.

Right hip flexes left hip internally
rotates as it extends.

Left hip extends and adducts.
Right hip flexes and adducts.
Trunk extends and hipper extends.

Hip
continues.

extends and abduction

Trunk unwinds and rotates to the
left.

@), (©), (e). (g) (h), (b), (d), ()
(@), (d), (e), (h), (b), (H), (g). (c)
(@), (b), (8). (), (&), (d), (c), (h)
(@), (h), (e), (d). (), (c), (b), (g)

“Arena” is the special name for

playground of :

(A)
(B)
©
(D)

Cricket

Lawn Tennis

Wrest]jng
Skating

79.

80.

FHY H Fafeyd sifeu |
Sael Hea § 1

(a)

(b)

(©)

(d)

()

(A)
(B)
(©)
(D)

FEHl H ICAE F Y YU, ToH b
¢ 31 0T o B |

=i g s RS R/ s g, v
T SR g W 2|

<1 e ST B € qen st Few
A F 3R S F g H afeT #
3R g3 S &

w1 FeE e € adn siet # AR
ST

AT Fowl AHEd B & siet @t
R g2 8|

3 3R feor <M1 famga 2§

Feel Herdl 8 a1 3R I SR g F
foan =t Telt }1

UE AT Al ¢ 3 AT S g
7

@), (©), (). (). (h), (b), (d), (f)
(@), (d), (¢). (h), (), (), (g), (c)
(a). (b), () (), (¢). (), (c), (h)
(@), (h), (), (d), (), (©), (b), (g)

e w fafore v frg @ dem =)
Heilferg =ar &2

(A) TrFe

(B)

& 2|

© Fw

(D)

i
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81. Kwashiorkor is a form of Malnutrition ~ 81. FNSTHR FIHa T W e = FH1
caused by the deficiency of which % IO Bt & 2
nutrient ?
(A) Carbohydrate (A) FEiERS
(B) Dietary Protein (B) EREIH WM
(C) Fat (C) =& (W)
(D) Vitamins (D) faerfi=
82. Hostile behaviour in order to attract 82. ST SIR w4 eh{da 3 F ferw faman
attention towards himself/herself is SRTF HFFer FHeard § ¢
called :
(A) Repressed aggression (A) TfHd s
(B) Overt aggression (B) TR HATHHRA
(C) Hostile aggression (C) ATqul SThTHHAl
(D) Instrumental aggression (D) WYATHS AR
83. If the venue of next Athletics 83, SFR 37Tell uydifeay Sfymafim F1 smcH
championship is 2500 meters above the TR T 9 2500 Hie # F9E W A g ar
sea level. The training for long distance it g8 %yl 1 fm e &1 e
athletes should compulsory have which ST S Aufer & 2
element of training :
(A) Under water training (A) Tt % et ufdrer
(B) High altitude training (B) 3= =g wf¥rem
(C) Low altitude training (C) &% F=rd e
(D) Down the hill running (D) Yers § v FI T e
84. Under ideal conditions the JCR test 84. TUF &Y oM ¥ iavia JCR whay d=4
battery measures an individuals : Afer H & T ¥ 2
(A) Cardio-vascular fitness (A) HfA-arger vy
(B) Motor fitness (B) HrRX fireTg
(C) Physical fitness (C) frfsre fream
(D) Psycho-physical fitness (D) wrze-frfsrer frem
SPACE FOR ROUGH WORK / 1% =14 % forg W
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85.

86.

87.

88.

89.

Which kind of Stretching is most injury
prone ?

(A) Static Stretching

(B) Dynamic Stretching

(C) PNF Stretching

(D) Ballistic Stretching

The ratio between an Athlete’s maximal
strength and his body weight is called :
(A) Absolute Strength

(B) Relative Strength

(C) General Strength

(D) Specific Strength

In which of the following sports does
agility play a prominent role ?

(A) Weight lifting

(B) Gymnastics

(C) Archery

(D) Shooting

The plane that divides the body into
superior or inferior parts is known as :
(A)
(B) Lateral plane
(C) Sagittal plane
(D) Horizontal plane

Coronal plane

For development of which of the fitness
component plyometric training is most
suitable ?

(A) Flexibility

(B) Cardio Respiratory Fitness

(C) Strength Endurance

(D) Explosive Strength

85.

86.

87.

88.

89.

o8 w1 797 waifuss e yga &2

(A) 3=d TH
(B) Tifdes a4

(C) WTATE T
(D) wafeF T

Taeret 1 sifyshan ampa s s a9
] UG FEA €

(A) W& drhd

(B) wmfé ameRd

(C) HM= A

(D) Ta¥9m arwa

T A fore Bergs § geten g e
vt €2

(A) YRR

(B) SiFfR®

(C) erfeen

(D) i grT

9% gHae W TRt awg #1 giufer staan
TRITER sl o siedr 8, i Fed &

(A) HRFS GHTA

(B) uifveish Hwae

(C) HEHHHIR HHAS

(D) &fTw T9ae

SugFE & fo5q wew ¥ fowm ¥ ol
wEAfeE gfvem s 2

(A) T

(B) =nfed et fireaw
(C) drhd wEawIfHR

(D) faores ampa
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90. The muscles that acts together in the ~ 90. =€ Uit St ewé Weft 1 3feT 1 3R gy &
adduction of wrist joint : THEY fora 3t € - §2
(a) Flexor carpi radialis (a) IR T feafem
(b)  Flexor carpi ulnaris (b) TRIFR FH IR
(c) Extensor carpi radialis longus (c) TEESIR &t feafem wimg
(d) Extensor carpi ulnaris (d) THHSHR HU JEARE
(A) (a) and (b) are correct (A) (a) 3R (b) Ter €
(B) (c) and (d) are correct (B) (c) 3R (d) wet &
(C) (a) and (c) are correct (C) (a) 3R (c) &t
(D) (b) and (d) are correct (D) (b) 3R (d) Tl €
91. The normal percentage of fast twitch ~ 91. siwfEs® el § 100 Wex %t g & H=a
muscle fibers of Olympic medal winners St = faenfedi o wie 2= awe s
in 100 mt. race are : 1 gfewra wr=a: foan @ @ 2
(A) 45 -55% (A) 45 ¥ 55%
(B) 65-85% (B) 65 ¥ 85%
(C) 85-90% (C) 85 % 90%
(D) 95 -100% (D) 95 | 100%
92. The training cycle which has normal  92. Wf¥ew = e Gmr 3@ 3 - 6 gaE
duration of 3 - 6 weeks is called : et €, FEemdt ¥
(A) Micro - Meso (A) wrEsh-fasi
(B) Meso (B) fasm
(C) Macro (C) Hhi
(D) Micro (D) HTEshI
SPACE FOR ROUGH WORK / T% &Td % fod wmg
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93.

94,

95;

Which one is important principle of
curriculum designing ?

(A)
(B)
©)
(D)

Progression
Depth
Coherence
All the above

Give below are two statements one is
Assertion (A) and the other one is
Reason (R).

Assertion (A) : Curriculum evaluation is
a method to find out the effectiveness of
curriculum.

Reason (R) : Curriculum evaluation is
judged by parents, teachers and the
community.

In context of the above statements, which
one of the following is correct ?

(A) Both (A) and (R) are right but (R) is
not the correct explanation of (A).
Both (A) and (R) are right and (R)
is the correct explanation of (A).

(B)

(©)
(D)

(A) is wrong but (R) is right
(A) is right but (R) is wrong

In which city the first physical education
teachers training college in India was
started ?

(A)
(B)
(©)
(D)

Mumbai
Bangaluru
Chennai
New Delhi

93,

94.

95.

weHERe i e 8 9 399 a fogig
e & 2

(A) wfa

(B) T

() HEwfa

(D) 9= wsft

e & w3 ™ ¥ 1w afameT (A)
#R g0 weh (R) £

AfuwaT (A) : TEEET gEET Teawy
T AT 1 9a1 o T fafy £

T (R) : WIAHH * HeArw wrar-far,
forerent wa woe BRI faran s ¥

2t HUAl % ged § frafafe § @ g-r
FUTHG T ?

(A) =TI (A) 3R (R) WE & W (R), (A) F1
eI = T g

T (A) 3 (R) W & 3R (R), (A) F
e TS FE E |

(A) ToE § T (R) T&T 2

(A) Wl & &f (R) et &

(B)

©)
(D)

TG H TEeT R fore fovarss gforam
Teifereners e vy | ey fmer o on 2

(A) He
(B) #TIE
© ==
(D) T faeett
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96. Assertion (A): The moment of Inertia 96, HTWHIT (A) : o el 1 ferdrwan & for
characterises the resistance of a body to a T foel fiiz =1 o 3 1 gfmm § 29
change in the magnitude of angular Tl e 1 qfawe FHa g |
velocity.

Reasoning (R) : Moment of Inertia plays WHIUT(R) : SiS ATe0f Hong fgwt § o

vital role in the angular dynamics. HEeqol S FHr B

(A) Both (A) and (R) are wrong (A) (A) 91 (R) S TTema €

(B) Only (A) is correct (R) is not correct (B) e (A) &, (R) W&t & &

(C) Only (R) is correct (A) is not correct (C) wad (R) G#1, (A) T& 7& 2

(D) Both (A) and (R) are correct and (D) (A) @ (R) S TE ¥ st mifees §
related

97. Which of the statements are correct ? 97. =93 3H Q %y w2

(a) Friction - Forcethatresists, opposes (a) EHO - ® W, S R 9 fue
the movement of one F Heg w1 favitear w1
body over the other. giaeny & g, a1 IHF

forgdia femm & & st
2l
(b) Gravity Force of attraction (b) TEA - o 9, 1 s | <) vere
between two materials 71 521 & s smmmo
or bodies in the FRU |
universe.

(¢c) Parabola Path of  projectile (c) HEAg - THTYT 7f 1 99 |

motion,

(d) Centrifugal -  Force that makes the (d) U=l o e S Tifasiier geref =
force rotating bodies move E! &2 W AN AT F

towards the centre. ]
(A) (a) and (b) are correct (A) (a) 3R (b) |l &
(B) (c) and (d) are correct (B) (c) 3R (d) w&t €
(C) (a) and (c) are correct (C) (a) 3R (c) W &
(D) (b) and (d) are correct (D) (b) 3R (d) wEt &
SPACE FOR ROUGH WORK / T& & & ford s
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98.

99.

Arrange the format in correct order or
find the correct order in Submitting
Research Report :

(a) Title page

(b) Abstract

(c) Listof Figures

(d) Acknowledgments
(e) Listof Tables

(f)  Table of Contents

(A) (@) (b), (c), (d), (e), ()
(B) (a), (d), (b), (), (e), (¢)
(©) (@), (c), (B), (), (b), (d)
(D) (a), (B), (d), (e), (b), (¢)

Assertion (A) : Ranked scores and
categories can be put to statistical testing
through non-parametric tools.

Reasoning (R) : Pre and Post test
experimental values may be compared
through the non-parametric statistics.

Code :

F (A) Only (A) is correct and (R) is not

correct.
(B) Both (A) and (R) are not correct.
(C) (A) and (R) are not related and not

correct.

(D) Only (R) is correct, (A) is not
correct.

98.

99,

HOIE FI WE e | oqafeed sifsu sieE
I YerE I U9 FH H T FH T

(@) HE-T<

(b) Tr=pe Freprem

(c) emepferl bt =ft

(d) e F=

(e) Ul i T

(f) fowa =1 grof

(A) (@), (b), (©), (d). (), ()
(B) (a), (d), (b), (£), (e), (c)
©) (@ (@), (6, (), (b), (d)
(D) @), (). (d). (e), (b), (c)

e (A) : afSfa ol (Yo =) o
gfori &t eTaTe SeEl @ wifersTa ghen
X ST S Hehall B |

WHIUT (R) : Y6 UF 3T WA gedi
AYTES WSl g ger T fFr s g
gl

%
(A) el (A) H& 3R (R) o ¥

(B) (A) 3R (R) 3 Wet & €1
(C) (A) 3R (R) safq 3K 7o

(D) e (R) 9& 3R (A) 7o ¥ |
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100. Assertion (A) : A buoyant force acts

upward on an object immersed in a fluid.
Reasoning (R) : The buoyant force acts
horizontally and influences the moment
of the object immersed in fluid.

(A) Both (A) and (R) are correct

(B) Only (A) is correct, (R) is wrong

(C) Both (A) and (R) are wrong

(D) Only (R) is correct and (A) is not
correct

v -00o0-

100. AFUHYT (A) : TF 3eeTaH 9 T § ol

forelt ovg ™ T Y iR F w1
T (R) : Seamay 9@ Afeema: w1 & &
a1 5 H el a%g i G gl @
2l

(A) (A) a9 (R) SHi &t &

(B) T (A) W, (R) Terd &

(C) (A) T (R) ST Terd &

(D) e (R) HEt 3I7 (A) &l =& &

~-00Qo0-
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I 3ifeh T T WHT : 292 stfirhem o : 200
Time for marking answers : 2 Hours Maximum Marks : 200
e

1. T8 9-YfEe J 100 TG 999 § - 9%y 2 3w o &1 ol v v we s E

»

99l % IW, & T OMR Sw-¥ite (AE-viz) T sifea Hifaw |
3. RIS Hodihd el fehan S |

4, ol ft 9@ F S 91 @ ad S darEa B 1 W6 ated 2

i

OMR ST-¥i1e (AE-¥12) 1 T Fd Fog Tl 1 sramaur 7 /9% 1998 98 w2 5@ a1
398 g 71 foerae anfe ug Wi foas werasy 98 @O 8 Wi |

Note :

1. There are 100 objective type questions in this booklet. All questions are compulsory and
carry 2 marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.

o

No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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